Kungsbacka BS

HCP Trivsel Foranméalan 2022-06-30

SCRATCH

Partavling, 5 bord, 10 par. Antal brickor: 27. Medel: 108.0.

Plac Par Poang % Namn MID Klubb

1 9 135.7 62.81 John Lysén - Anita Lysén 90934 90933 Kungsbacka BS

2 4 129.7 60.03 Staffan Edstrom - Harald Eide 61206 14047 Royal Bachelors Club - BK Lyx

3 8 121.7 56.33  Sture Ekberg - Evald Jensen 4859 9951  Kungsbacka BS

4 3 120.3 55.71  Marian Svensson - Enar Bergstrém 31163 14921 Kungsbacka BS

5 1 118.0 54.63 Anders Hugosson - Elisabeth Larsson 66780 2758 Kungsbacka BS

6 5 112.0 51.85 Marianne Nilsson - Ulla Hamrén 42778 39256 Kungsbacka BS

7 6 98.0 45.37  Mona Nilsson - Lena Tisén 59255 27813 Kungsbacka BS

8 2 85.3 39.51 Marianne Persson - Ing-Britt Sternhufvud 86228 52914 Kungsbacka BS

9 10 80.3 37.19 Gobsta Ignell - Ake Griphede 48138 53054 Kungsbacka BS

10 7 79.0 36.57  Carin Jacobsson - Kerstin Georgsson 27810 31147 Kungsbacka BS - Asa/Frillesds BK
1 Nord Ingen 2 Ost NS 3 Syd OV

Par  Kontr Ut Res Poang Par  Kontr Ut Res Poang Par  Kontr Ut Res Poang

7 3 5y N= *A 450 80 00| 52 3NN+1 vQ 630 80 00| 52 24V= vQ -110 8.0 0.0

46 4v N= *A 420 60 20| 4 6 3¢ S= v9 110 6.0 20 9 8 440+2 v9 -170 6.0 2.0

52 540-1 ¢ A 50 30 50| 98 2v0O+2 &K -170 4.0 40| 4 6 2NV +4 vQ -240 4.0 4.0

98 44 0-1 *A 50 3.0 50|10 1 3NN-3 *] -300 2.0 6.0 7 3 3NO+2 v2 -660 1.0 7.0
10 1 6vDN-2 vA -300 0.0 80| 7 3 5¢DS-3 v9 -800 0.0 80| 10 1 3NO+2 v2 -660 1.0 7.0
4 Vast Alla 5 Nord NS 6 Ost OV

Par  Kontr ut Res Poang Par  Kontr ut Res Poang Par  Kontr ut Res Poang

19 3NV-1 43 100 70 10| 10 2 INS+1 46 120 80 00| 8 4 3NS+3 49 490 8.0 0.0

57 4v V-1 *7 100 70 1.0| 8 4 3&N= a2 110 6.0 20| 57 2NS+2 a2 180 6.0 2.0
10 2 3v O +1 2 -170 4.0 40| 57 1v0O-2 *9 100 40 40| 6 3 3¢ S+3 *T 170 40 4.0

6 3 4v O+1 oT 650 1.0 70| 19 1vO= *9 -80 20 6.0| 10 2 3¢ S+2 a2 150 2.0 6.0

8 4 4v O+1 *9 -650 1.0 70| 6 3 3¢ S-1 *8 -100 0.0 80| 1 9 2¢ S+2 aT 130 0.0 8.0
7 Syd Alla 8 Vast Ingen 9 Nord OV

Par  Kontr Ut Res Poéang Par  Kontr Ut Res Poang Par  Kontr Ut Res Poang

9 5 3NV+3 v2 -690 8.0 00| 10 3 64 V-2 +8 100 80 00| 21 3NO-2 a4 200 8.0 0.0

21 6NV= *T -1440 50 3.0 2 1 34 V+2 *A 200 5.0 30| 6 8 3#V-1 v7 100 50 3.0

7 4 6NV = + K -1440 50 3.0| 6 8 1la V+4 &A 200 5.0 3.0 95 3NO-1 *Q 100 50 3.0

6 8 6NV +1 2 -1470 10 7.0 95 44 V+1 *A -450 2.0 6.0 10 3 34DN-1 vA -100 2.0 6.0
10 3 6NV +1 v3 -1470 1.0 7.0 7 4 44 V42 SA -480 0.0 80| 7 4 3NO= *Q -600 0.0 8.0
10 Ost Alla 11 Syd Ingen 12 Vast NS

Par  Kontr Ut Res Poéang Par  Kontr Ut Res Poang Par  Kontr Ut Res Poéang

16 5NO-1 a2 100 80 00| 32 3NS+1 a2 430 80 00| 16 INO= + K 90 7.0 10

32 3NO= a2 -600 6.0 20| 1 6 3¢ S+2 v7 150 50 30| 85 INO= + K -90 7.0 1.0
10 4 3NO+1 a2 -630 4.0 40| 10 4 44 S+1 v7 150 50 30| 10 4 2&V+1 *T -110 4.0 4.0

8 5 4v O+1 a2 -650 2.0 60| 7 9 3NS-1 46 50 20 6.0| 7 9 2NV +2 *2 -180 2.0 6.0

79 3NO+2 a2 -660 0.0 80| 8 5 3NS-3 a2 -150 0.0 80| 3 2 2NN-2 aT -200 0.0 8.0
13 Nord Alla 14 Ost Ingen 15 Syd NS

Par  Kontr Ut Res Poang Par  Kontr Ut Res Poang Par  Kontr Ut Res Poang

8 1 6y N= v2 1430 80 00| 81 34N= +5 140 70 10| 4 3 3NS+3 v9 690 8.0 0.0

2 7 44 N+2 va 680 30 50| 96 34N= +5 140 70 10| 2 7 3NS+2 a5 660 6.0 2.0

4 3 44 N+2 43 680 30 50| 27 2vS-1 43 -50 3.0 50| 9 6 3NS= *2 600 40 4.0

9 6 44 N+2 v4 680 30 50| 4 3 34N-1 .7 -50 3.0 50| 10 5 3NN-2 «5 -200 2.0 6.0
10 5 44 N+2 v4 680 30 50| 10 5 44 N-2 vA -100 0.0 80| 8 1 44 S-3 v9 -300 0.0 8.0
16 Vast OV 17 Nord Ingen 18 Ost NS

Par  Kontr ut Res Poang Par  Kontr ut Res Poang Par  Kontr ut Res Poang

9 2 3NV-1 *7 100 80 00| 17 3NS+2 vT 460 80 00| 9 2 44 V-1 *A 50 8.0 0.0
10 6 3ANO= LN -600 6.0 20| 10 6 3NN +1 +3 430 6.0 20| 17 4vyN-1 *Q -100 6.0 2.0

17 3NV+1 *7 -630 2.0 60| 3 8 3NS= v9 400 30 50| 38 340+1 vA -170 4.0 4.0

3 8 3NV +1 +Q -630 2.0 6.0 9 2 3NS= v8 400 3.0 50| 54 44 O+2 *4 -480 2.0 6.0

54 3NO+1 *3 -630 2.0 60| 54 3NS-1 +9 -50 0.0 80| 10 6 44DO= vA -590 0.0 8.0
19 Syd OV 20 Vast Alla 21 Nord NS

Par  Kontr Ut Res Poang Par  Kontr Ut Res Poang Par  Kontr Ut Res Poang
10 7 5¢ N-2 *A -100 8.0 00| 65 44S+1 oA 150 80 00| 65 2NS= *A 120 8.0 0.0

4 9 2v V+2 oK -170 6.0 20| 2 8 3#S-1 s A -100 6.0 20| 4 9 24 N= v3 110 6.0 2.0

13 4vV+l +J -650 2.0 60| 1 3 54S-3 s A -300 4.0 40| 1 3 INS= v9 90 3.0 50

2 8 4v V+l +9 -650 2.0 6.0( 10 7 54D S -2 s A 500 2.0 60| 2 8 INS= v4 90 3.0 50

6 5 4v V+1 ] -650 2.0 60| 4 9 44DV+1 vK -990 0.0 80| 10 7 34 N-2 v] -200 0.0 8.0
22 Ost OV 23 Syd Alla 24 Vst Ingen

Par  Kontr Ut Res Poang Par  Kontr Ut Res Poang Par  Kontr Ut Res Poang

39 2¢v N+1 +Q 140 73 07| 2 4 44 N+1 *A 650 6.0 20| 10 8 2NN= 3 120 8.0 0.0

24 2vN-1 + K 50 23 57| 39 44 N+1 vA 650 6.0 20 3 9 2¢v N= 3 110 6.0 2.0
10 8 3v N-1 + K 50 23 57| 7 6 44 N+1 vA 650 6.0 20| 7 6 INN= +3 90 40 4.0

51 A=/A= 40 40| 51 44 N= *A 620 1.0 70 2 4 24V-1 *T 50 2.0 6.0

76 A=/A= 4.0 40| 10 8 44 N= ¢ A 620 1.0 70 51 INN-2 +3 -100 0.0 8.0
25 Nord OV 26 Ost Alla 27 Syd Ingen

Par  Kontr Ut Res Poang Par  Kontr Ut Res Poang Par  Kontr Ut Res Poang

6 2 44 N+1 v8 450 70 10| 6 2 24 N+1 v6 140 80 00| 41 2NS= & K 120 8.0 0.0

8 7 44 N+1 vA 450 70 10| 8 7 INO+1 a7 -120 6.0 20| 6 2 INS= a4 90 50 3.0

4 1 44 N= vA 420 40 40| 35 2v0O+1 a7 -140 3.0 50| 8 7 2&S= v6 90 50 3.0

3 5 24 N+2 vA 170 10 70| 41 3v0O= a7 -140 3.0 50 35 2v0-1 aT 50 20 6.0
10 9 34 N+1 *2 170 10 70|10 9 2v O+2 43 -170 0.0 80| 10 9 3NN-3 vT -150 0.0 8.0
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